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J| 9,920

& 1,984
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J| 3,310
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Al 40
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Jl 111,460
& 22,292
Al 121,202

101 @1 21| 254,954 236,720 18,234
J| 111,460
& 22,292
Al 121,202

03 2IAHALZZXNHE = 254,954 236,720 18,234
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>olE23 1,740,000& *4021x12& 83,520
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Al 11,136
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< 1,352
Al 5,408
>EAS 2,500, 000& #2021 5,000
| 2,500
< 500
Al 2,000
D2 AH Y WSEEHl 250,000 #2021 %123 6,000
| 3,000
< 600
Al 2,400
> =& 0 200,000& 221 x12& 4,800
| 2,400
< 480
Al 1,920
DIHNTR L BnsH L wsHH
200, 000& #2021 400
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Al 160
DHEZ2SY 3,600,000& »2¢2I 7,200
| 3,600
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Al 2,880
> Il = 4l 100,000& 2 200
| 100
< 20
Al 80
DS (02 ¥ F§L22)
1,000, 000& 14 1,000
| 500
< 100
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> HE S| 1,379,000& 62! 8,274
> A DHE &I 76,0003 x 10 62! 4,560
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= 140,591
= 28,118
Al 112,472
>ANHB 93,726,000& x 14! 93,726
= 46,863
= 9,372
Al 37,491
>EAZ 1,487,040 =120l 17,845
= 8,922
& 1,784
Al 7,139
>aaldl € nsE| 250,000 x1221 x12& 36,000
= 18,000
& 3,600
Al 14,400
> &0 200,000& x 1221 x12& 28,800
= 14,400
= 2,880
Al 11,520
DHEZZ LG 2,276,000 =14l 2,276
= 1,138
& 228
Al 910
DALZNEH € W0 500,000& =122l 6,000
= 3,000
& 600
Al 2,400
> YA SO 1,562,120& x12H 18,746
> AHIPE A 10,118,000 » 1Al 10,118
DANEE 2 300,000& =122 x12& 43,200
Jleddl 57,040 58,899 A 1,859
Jl2 &4l 57,040 58,899 A 1,859
201 2Et24Hy| 19,440 19,259 181
01 AP 22| d| 11,640 10,872 768
O1 Let=2H| 7,800
DENSY LEt4+=2H| 7,800,000 =14l 7,800
O5 S| 3,840
DOof2H. 5422 8,000 #2001 x2U x12& 3,840
02 B2 7,800 8,387 A 587
O1 222 2 HA 1,800
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DRERS 150,000& 12 1,800
O4 Xtgd el 6,000
D> Xt &= Xl 2,000,000 »3CH 6,000
202 oddl 24,800 21,440 3,360
01 = LH o4 1l 24,800 21,440 3,360
OJl2gf=3 0l 1,800,000& 122 21,600
O3sE29 ¢l 100,000& = 12& 1,200
OAHLSEIAMY HEFL 22|
2,000,000& =14 2,000
203 R =&l 7,800 7,900 A 100
02 A& H R =X 1,920 1,960 AN40
OF AL R Z= A 40,0003 =482l 1,920
04 NI FAH 5,880 5,940 260
FA2IE I RFAHI 490,000& 123 5,880
405 XHoHF S HI 5,000 10,300 25,300
01 XL 2 ZFH S| 5,000 10, 300 A5,300

Oodeg (A2 agd) 5,000,000 «1CH 5,000




